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program Error;
var sum: Integer;
begin
sum := (;
fori:=1to 5do

sum := sum + i

.end
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program Example;

var x: Integer;

begin
X = 5;
if x > 3 then
writeln('Hello')
else
writeln(*World');
end.
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program FindMax;
var num], num?2: Integer;
begin
writeln('Enter two numbers ;(':
::JJ readin(num1, num?2;(
if num1 > num?2 then
writeln('Max is: ', num1(
else
writeln('Max is: ', num2;(
end.
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function Factorial(n: Integer): Integer;
var i, result: Integer;
12 begin
) result := 1;
aa)d
fori:=1 tondo
result := result i;
Factorial := result;
end;
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matrix: array [1..3, 1..3] of Integer;
6 ;Kb g5 b Length dalss .10
Glayd oaill & oY) s i
bt gl
Ll S SR G
) s A ousiad) July

3 (» 3 dsaall



